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1. The number of orbitals in a d subshellis A)1 B)2 C)3 D)5 E)7.

Which ground-state atom has an electron configuration described by the following orbital
diagram? A)P B)Ge C)Se D)Te E)none of these.
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How many unpaired electrons does a ground-state atom of sulfur have?
A)0 B)l C)2 D)3 E)4.

Which of the following ground-state atoms is diamagnetic?
A)Ca B)As C)Cu D)Fe E)none of these.

Which one of the following is most likely to be an ionic compound?
A)ClFs B)FeCl; C)NH; D) PF; E) SO;

Calculate the volume occupied by 35.2 g of methane gas (CHs) at 25°C and 1.0 atm. R =
0.08206 L-atm/K-mol.

A)0.0I186 L B)45L C)11.2L D)492L E)53.7L
Which of the bonds below would have the greatest polarity?
A)Si—P B)Si—S C)Si—Se D)Si—Cl E) Si—1I

Which one of the following elements is a transition element?
A)Sr B)Pb C)As D)Fe E)H

What is the number of lone electron pairs in the N; molecule? A)l B)2 C)3 D)4 E)S

10. The total number of bonding electrons in a molecule of formaldehyde (H,CO) is

A)3 B)4 C)6 D)8 E)I8.
VRS RsHEAR (60 )
Write the Lewis structure of (a) CI" (b) CO3% (¢) water molecule (d) nitrate ion. (16 %)

What is the formula for the ionic compound formed by (a) magnesium and iodine; (b)
aluminum and oxygen? (8 4)

. Give any one example for strong electrolyte, weak electrolyte and nonelectrolyte. (9 %)

Based on the solubility rules, classify which of the followings are soluble in water and which
are insoluble in water? NaCl, AgCl, PbSO4. (9 %)

. What is the molar concentration of chloride ions in a solution prepared by mixing 100 mL of

2.0 M KCl with 50 mL of a 1.5 M CaCl; solution? (8 )

What is the equation of chemical reaction that involved in the formation of scale (7K 3%)? What
is the strategy to remove the scale? (10 4)
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